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	[image: image5.png]1: 6 identical coins are arranged in a row. The number of arrangements in which 4 are heads and 2
are tails is 15

H:  The remainder whenx = 1! +2! +31 +.....+1000! is divided by 240 is 33

The correct statement of the following
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Assertion (A) : If a, b, ¢ arc distinct positive numbers then the value of A= b ¢ al is positive
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[image: image12.png]Reason (R): A= %(A-*M)[(l‘b)’*(b-c)’i(c-a)’]

1) Both A, R are true and R is the correct explanation of A
2) Both A, R are true and R is not the correct explanation of A
3) Aistrue and Ris false  4) Both A, R are false
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2 | then which of the following is true?
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2) RankofA=1  3) A" does not exists 4) all are true.
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	[image: image18.png]There are two points A and B on the ground which are at a distances ‘2’ and ‘b’ from the tower. The
angle of elevation of the top of the tower at the points A and B are complementary. If line AB passes

through the foot of the tower, then the height of the tower is
atb

1) A M. between ‘a’ and ‘b’ 2) G.M. between ‘a” and *b’°  3) H.M. between ‘a’ and ‘b’ 4) 5
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	[image: image19.png]“The harmonic mean of the roots of the equation($+/2 ) x2-(4+45 ) x+{8+245) = 0 is
n2 24 36 48
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	[image: image20.png]The quadralic equation whose roots are the x and y intercepts of the line passing through (1, 1) and
making a wiangle of area A" with axes may be
DX +Ax+2A=0 2) X*-2Ax+2A=0 3)x'— Ax+2A=0- 4)x’+Ax-2A=0
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